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L2x2 +11x+14=0
Q1 n4vi+12y+9=10

(@3 x<y

(b) x>y

(T x<y

() AEx=y

(e) T x = y T HIS e WG &1 fb a1 <1 qpal ©
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Lx*—4=0
Q2. ny*+6y+9=0

(@ x<y

(b) A& x>y

(©TEx<y

() TEx=y

(e) T x = y T HIS Yo WG &1 fba1 <1 qobal ©
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Lx?—T7x+12=10
Q3. ny*+y—12=10
(@) e x <y
(b) A x>y
(0 ex<y
(@A x=y
(e) T x = y T IS e WG a1 fba1 <1 gt 8
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L.x* =729
Q4 ILy=+529

(a) H’% X<y

() T x>y

(©Tfdxsy

(@A x=2y

(e) TfS x = y AT DI Y&t TS T8} fobarT ST qbaT &
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. x*—227= 398
Qs. Iy +321 = 346

() Afex<y

(b) T x>y

(©dfax<y

@A x=2y

(e) TG x = y TT IS Gae WG 81 fa1 <1 gt 8
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. 9x%=1
(ML 4y2+11y—3=0

(@ x<y

(b)adx<y

() T x =y, AT x 3R y & 1 B3 G RIS &1 a1 o vl §
(@ FIx>y

(e)afcx2y
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. x*-5=10

II. 4y?—24y+35=0
—_ y+
() dfdx<y

b)afdx<y



(€ TR x =y, A x AR y & §I HI3 G R L1 oo o vl §
(D) x>y

(e)Aaxzy
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. x*—5x—14 =10
1. v24+7y+10=0
08 Yy +

()ax<y

(b)Adx<y

(€ T x =y, A x AR y & §1 HI3 e RO LT oo o vl ©
(@I x>y

(e)Faxzy
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l. Sx+7y=—43
Q0. . 9x—17y=41

()T x<y

(b)Afdx<y

()T x =y, A x AR y & S Dz Jae R T8 fobam o Gbel1 8
(@ TEx>y

()T xzy
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. 2x*— (4+V13)x+2V13=0
Q10 . 10y*—(18 + 5v13)y+9v13=0

()T x<y

(b)Adx<y

(€ T x =y, AT x 3R y & 1 B3 Fae RIS 1 o o vl §
(TR x>y

()T x2y

L1Difficulty 3

QTags Quadratic Inequalities

QCreator Amit Kumar Singh



. (p+q)?=3136
qi1, 1-0+2513=2569
(@) p>q

(b) Tdp=gq

() Tfdp<q

(3 p=q

(e) I p=qT p 3R ‘¢ FAA B Yo Tal g
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.4p?—16p+15=0
1.2g2+5q—7=0
Q12. q L

@3fEp>q

(b) Fp=q

(@ T&p<q

d3Rp=q

()T p=qTT'p 3R ‘¢ FAA B & Tl 5|
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|.p?=49
2 _
Q13. Il.g=+15g+56=0

(@) dfEp>q

(b) Ffep=q

(©dfEp<q

(d3Ep=q

()T p=qTT'p 3R ‘q FIHABIS o T 3|
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.2p?+5p—12 = 0
I1.2g°—g—1=0
Q14. a4
@M p>q

(b) dfdp=q



(©fp<q

(d3fp=q o
()T p=qd'p 3R ‘¢ F AT DS Ty T8I 3|
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|.p2—12p+35=0
11.g%—25=0
Q15. G

@3fEp>q

(b) Fp=q

(©T&p<q

d3Rp=q

()T p=qTT'p 3R ‘¢ FAA B & Tl 5|
L1Difficulty 3

QTags Quadratic Inequalities

QCreator Amit Kumar Singh

Solutions

S1. Ans.(a)
L2x2+4x+7x+14=0 I.(2y +3)2=0

2x(x+2)+7(x+2)=0 y= —15,-15

x= —2,—-3.5

Sol. X<y

S2. Ans.(b)
lL.x = £2 .y +3y+3y+9=0

y= —3,—3
Sol. =y

S3. Ans.(d)



L x2—3x—4x+12=0 Ly 4+4y—3y—12=0
x(x—3)—4(x—-3)=0 viv+4)—-3(y+4)=0
x= 3,4 yv=3—4
Sol. X2y
S4. Ans.(e)
lLx = 427
.y =23

Sol. Mo relation

S5. Ans.(e)
l.x* = 398 + 227 = 625 Il. y? = 346 — 321
x= 1b y= 15
Sol. no relation
S6. Ans.(c)
1 -1
T 33

492 +12y —y—3=0
4y[y+3}—1{}r+3} =10
1
J"r = E! _3
Sol So no relation can be established

S7. Ans.(a)
x =+/5,—/5
4y? — 14y — 10y + 35 =0
2v(2y —=7) =52y —-7)=10

57
Y=733
X<y

Sol.

S8. Ans.(e)



2 _Tx+2x—14=0
x(x—=7)+2(x-7)=0

x=7,-2
y2+5y+2y+10=0
y=-2,—-5
>
Sol. x=Y
S9. Ans.(d)
Solving these equations.
x=-3,y=—4
Sol. X~V
S10. Ans.(e)
2x% —4x —y13x +2y/13 =0
2x(x —2)—+13(x —2)=0
X = "'IEE, 2
10y? — 18y — 5¢/13y + Eh,f_ =
2y(5y —9) —+/13(5y —9) =
, = VI3 9
Y==733
=y
Sol. r=J
S11. Ans gg

rﬂ +g=156,p=0
If p+g=-56 then p=-112
| p+q=56then p=0 so0,q >p
ol.

S12. Ans.(a)
4p* —10p—6p+15=10
2p(2p—5)—3@2p—-5)=0
p=1-
2q° —Eq-l-?q 7=0
2q(g-1)+7(g-1)=0
q=-,1
=

Sol.p a

S13. Ans.(b)



Sol.

p=7,—7

g +7q+8q+56=0
glg+7)+8(g+7)=0
g=—7,—8

Pz=q

S14. Ans.(e)

2p°+8p—3p—12=0

2p(p+4) —3(p+4) =0
3

F=EJ_4

2¢° —2q+q—1=0

2q(g-1)+1(g—1) =0
-1

q:Trl

Mo relation can be estahblished.

Sol.

S15. Ans.(b)

Sol.

p*—Tp—5p+35=0
pp—7)—5(p-7)=0
p=257

q=5—-5

p=q



